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In a test of goodness of fit, we are interested in knowing how well a population follows a specific distribution.

	Parameter
	O
	E
	O – E
	(O – E)2
	(O – E)2/E

	Wears Glasses
	
	0.25
	
	
	

	Left Handed
	
	0.10
	
	
	

	Female
	
	0.50
	
	
	

	Sum the last column:
	


When calculating degrees of freedom for this test, we use 
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 for the number of categories. In the example above, 
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A goodness of fit test is always a right-tailed test.

Testing Goodness of Fit

	1. 
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	Population distribution is the same.

	2. 
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	Population distribution is not the same.

	3. 
	
[image: image5.wmf]1

-

=

k

df

, 
[image: image6.wmf]2

c

-test

	4. 
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